<?xml version="1.0"?>

<!DOCTYPE FpML SYSTEM "wd-fpml-dtd-main-3-0-2002-05-06-deposits.dtd">

<FpML version = "3-0"

 businessCenterSchemeDefault = "http://www.fpml.org/spec/2000/business-center-1-0"

 businessDayConventionSchemeDefault = "http://www.fpml.org/spec/2000/business-day-convention-1-0"

 currencySchemeDefault = "http://www.fpml.org/ext/iso4217"

 dateRelativeToSchemeDefault = "http://www.fpml.org/spec/2001/date-relative-to-2-0"

 dayCountFractionSchemeDefault = "http://www.fpml.org/spec/2000/day-count-fraction-1-0"

 dayTypeSchemeDefault = "http://www.fpml.org/spec/2000/day-type-1-0"

 partyIdSchemeDefault = "http://www.fpml.org/ext/iso9362"

 periodSchemeDefault = "http://www.fpml.org/spec/2000/period-1-0">


<!-- ABN Amro pays 4% CHF fixed rate deposit for 25 million on ACT/360 basis to Midland starting

            February 14, 2002 and maturing February 15, 2002. -->

  <trade>

    <tradeHeader>

      <partyTradeIdentifier>

        <partyReference href = "#MIDLAND" />

        <tradeId tradeIdScheme = "http://www.hsbc.com/swaps/trade-id">MB87623</tradeId>

      </partyTradeIdentifier>

      <partyTradeIdentifier >

        <partyReference href = "#ABNAMRO" />

        <tradeId tradeIdScheme = "http://www.abnamro.com/swaps/trade-id">AA9876</tradeId>

      </partyTradeIdentifier>

      <tradeDate>2002-02-14</tradeDate>

    </tradeHeader>

        <termDeposit>

          <buyerPartyReference href = "#MIDLAND"/>

          <sellerPartyReference href = "#ABNAMRO"/>

          <startDate>2002-02-14</startDate>

          <maturityDate>2002-02-15</maturityDate>

          <dayCountFraction>ACT/360</dayCountFraction>

          <principal>

            <currency>CHF</currency>

            <amount>25000000.00</amount>

          </principal>

          <fixedRate>0.04</fixedRate>

        </termDeposit>

  </trade>

  <party id = "MIDLAND">

    <partyId>MIDLGB22</partyId>

  </party>

  <party id = "ABNAMRO">

    <partyId>ABNANL2A</partyId>

  </party>

</FpML>

